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pq

𝒇(𝒙) = 𝑷(𝑿 = 𝒙) = 𝒑. 𝒒𝒙−𝟏                         𝒙 = 𝟏, 𝟐, 𝟑 …

𝑋 ↝ 𝐺(𝑝)

 

𝑬(𝑿) = 𝟏
𝒑⁄       ,      𝑽(𝑿) =

𝒒
𝒑𝟐⁄

𝒑 = 25
35⁄ = 𝟓

𝟕⁄          ,      𝒒 = 10
35⁄ = 𝟐

𝟕⁄       , 𝑋 ↝ 𝐺(5
7⁄ ) 

𝑃(𝑋 = 20)  =  (𝟓
𝟕⁄ )(𝟐

𝟕⁄ )
𝟏𝟗

 =  3,285  . 10−11    
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𝑷(𝑿 = 𝒙) =
𝑪𝑵𝟏

𝒙 . 𝑪𝑵−𝑵𝟏

𝒏−𝒙

𝑪𝑵
𝒏

𝑿 ↝ 𝑯(𝑵𝟏 , 𝑵 − 𝑵𝟏  , 𝒑)

𝑵𝟏  𝑵 − 𝑵𝟏

𝑵

𝑵𝟏

(𝑵 − 𝑵𝟏)

𝒏

𝑬(𝑿) = 𝑛.
𝑁1

𝑁
= 𝒏. 𝒑    

𝑽(𝑿) = 𝑛.
𝑁1

𝑁
[1 −

𝑁1

𝑁
] [

𝑁 − 𝑛

𝑁 − 1
] = 𝒏. 𝒑. 𝒒 [

𝑵 − 𝒏

𝑵 − 𝟏
]    

 

 



 

𝑿 ↝ 𝑯(𝑵𝟏 ;   𝑵 − 𝑵𝟏 ) = (4;  3)

 

𝑷(𝑿 = 𝟎) =
𝑪𝟒

𝟎. 𝑪𝟑
𝟐

𝑪𝟕
𝟐

 

𝑷(𝑿 = 𝟐) =
𝑪𝟒

𝟐. 𝑪𝟑
𝟎

𝑪𝟕
𝟐


